1 Here are the first five terms of a sequence.
2 ' 4 T 1 16
+2 3 + ¢ + 5

Write down the next two terms in the sequence.
e+ & = 22
2247 = 29 29 2.9

...................................................

(Total for Question 1 is 2 marks)

2 The first term in a sequence is 3.

The term to term rule is add 5. 3 % /3 [ 8 23 ...

Is 97 a term in the sequence?
Give a reason for your answer.

..................................................................... R N Y Y I T T Y

/\/0/ ........ QUL L. [ e SR M CCAE..,. E K

..................................................................................................................................

(Total for Question 2 is 2 mark)

3 Here are the first five terms of a Fibonacci sequence
1 2 ' 3 5 8
Write down the next two terms in thé sequence.
. 5+8=/3 .
& + /3 - 2'/ .......... /3 ................ ;2‘/ .........

4 'The nth term of a sequence is 4n + 3
| 41y t3 = 7
4(2) +3 = 11

(a) Find the first two terms of this sequence.

(b) Is 35 a term in this sequence. , ) o ‘ ‘
You must show how you get your answer. éL n+3 = 24

Qn c 32
‘-'.{ Vl = 8
........ C2 Do 0L B E it T T

............................................................................................................................

(Total for Question 4 is 2 marks)

o | /




5 The nth term of a sequence is 7” + 1 : L ') +o :: L

2.
(a) Find the first two terms of this sequence. ( 7—-) | = '

(b) Is 35 atermlnthls sequence. >, - 5 )
You must show how you get your answet. m[ f_+ . s -
a* = 3

w = 3¢ Cnol' o whwle ro j
......M.C?/. ......... 35 L3 . .nek.  ont. marf«ﬁq .......................... S 2K
....... I TN Y P EPEOR SRR SEEU R

M
(Total for Question 5 is 2 marks)

6 Here are the first 5 terms of a sequence.
17 : 14 ’ 1 . 8 5

(a) Find the next term of this sequence.

The nth term of a different sequence is 10n> +5 ' 0 e | - (1) _
| | jo(s)" + ° |

| )o(;ls) t 5
150 t &

(b) Work out the 5" term of this sequence.

..................................................

_ (Total for Question 6is 2 marks)

7 Here are the first four terms of a sequence.
T 1319 0 25

(a) Write down the next term in the sequence.

...................................................

(b) Explain how yQu got your answer B | ' (1)
........... Q, Jdl&éo“‘“"pcevws{ffﬂ/f
- )

( Totai for. Question Tis 2 marks) ;




2 3

The rule to contlnue the sequence is

Work out the 5" term of this sequence.

8 Here are the first four terms of a number sequence.

5

multiply the previous term by 2 and then subtract 1

(b) Find the 10" term in this sequence.

(1o)”

joo + S

Tx 2 =18
18 "*/ =17 ‘7
(Total for Questmn 8is1 mark)
9 Here are the first 5 terms of a F ibon_ﬁcc’i sequence. -
2 2 4 6 10
Find the 8th term of this.sqquence. : _
€ + 1o = L6
to + 16 = 26
(6 + 26 = 42 4
L L S
(Total fqr Question 9 is 2 marks)
10 The nth term Qf a sequence is n?+ 3 ( ) = %
(2) Find the first three terms of this sequence. ( 9”); - »,72

L R P T R PR TR R R RSPy

1)
(Total for Questlon 10is 3 marks)

/




11 Here is a sequence.of patterns made from white tiles and grey tiles.

patteru number 1 pattern nu'mber‘2- . “pa_t-t_ém number 3

(a) In the space below, draw pattérn number 4.

()
(b) Work out the total number of tiles to make pattern number 7.
7 Lo 13 7
........ ....2..2......
o @)

Kyle says S , .
. “There are 4 white tiles in pattem mumber 3 so there will be 8 white tiles in pattern number 6.”

(c) Is Kyle r1ght‘?
You must give a reason for your answer.

.........................................................................................................................

e .».--.........n-v..n--.........-.An.-..;....‘..-.......;.........-.....--...n-‘...--........-....-., ................................................................

* (Total for Question 11 is 4 marks) |




- ‘ B

12 Here is a sequence of patterns made from grey counters.

pattern number 1 pattern number 2 pattern number 3
() Inthe space below, draw pattern number 4. / 3 '
@ -] & @

® o000 @ o5 0
@ ® @ &

' 1
(b) Work out the total number of counters to make pattern number 10, M
5 7 /3 17
a4 s /2 /€

Yn +1

ot - e Fo .
4(ro) + / ¢/ 2)

(Total for Question 12 is 3 marks)

13 Here are the first five terms of a sequence.

31 27 23 19 15

~ (a) Find the first negative term in the sequence.

H 7 3 =

..................................................

(b) Is 30 a term in this sequence? - @)
Give a reason for your answer.

.........................................................................

..................................................................................................................................................................

(1)
(Total for Question 13 is 3 marks)

\— _ o




14 Here are the first 5 terms of an arithmetic sequence.

-3 1 5 9 13
(a) Find an expression, in terms of #, for the nth term of this sequence.
| /¢ 20
4 oY 8 12

The nth term of a different arithmetic sequence is 2n — 3

(b) Is 101 a term in this sequence?
Show how you get your answer.

In =3 = 161
In =04
n -~ 52

Mes, it is the 52md term @

(Total for Question 14 is 4 marks)

15 | Here are the first 5 terms of a sequence.
9 14 . 19 24 29

Find an expression, in terms of i, for the nth term of this sequence.

bn 5 o )5 20 2%

.................................................

(Total for Question 15 is 2 marks)

16 Here are the first 5 terms of a sequence.

25 22 19 16 13

Find an expression, in terms of n, for the nth term of this sequence.

—3n 73 —¢ - 7. —e =0

-------------------------------------------------

(Total for Question 16 is 2 marks)




17 Here are the first four terms of an arithmetic sequence.
4 11 18 25
Write down an expression; in terms of », for the nth term of the sequence,
a7 4 2] 28
...... W
(Total for Question 17 is 2 marks)
18 Hére are the first four terms of an arithmetic sequence.
35 31 27 23
Write down an expression, in terms of , for the nth term of the sequence.
—4n -y -y =12 ——/_é'
..... 4 30
(Total for Question 18 is 2 marks)
19 Here are the first five terms of an atithmetic sequence.
21 27 33 39 45
Write down an expression, in terms of n, for the nth term of the sequence.
6_\4 | ¢ [ 2 /¥ Z 7 5 ?
I -
(Total for Question 19 is 2 marks)
20 Here are the first five terms of an arithmetic sequence.

2 7 12 17 22

Write down an expression, in terms of n, for the nth term of the sequence.

L 5 /0 ) 5 20 2§

..................................................

(Total for Question 20 is 2 marksj{
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1 Change 120 minutes to hours.
jLo
60 .
‘l .................... hours
(Total for question 1 is 1 mark)
2 Change 4 hours to minutes.
b x 60
...................... Ay 7. minutes
(Total for question 2 is 1 mark)
3 Work out the difference, in minutes, between 55 minutes and 1é hours,
| ewr Y S M S
60 + %5 = _') o5
103 — 55
N 6—0 ........... ...minutes
(Total for questlon Jis2 marks)
4 Work out the difference, in minutes, between 2 hour 25 minutes and 1l hours.

LX60 . + o5 | love R0 smins
\ Lo + 2.5 | Co t 3O

= g4 5 - = 90

45 — 90 55

e e T UEES
(Total for questlon 4 is 2 marks)




Hayley left her home at 10.40 am. —w 4+ Y pnias

She walked from her home to the shop. ‘

Tt took her 14 minutes to walk to theshop. ] O 574 ' o
' > 4 1o patn 3

Hayley was at the shop for 10 minutes. /170 ?l- '

Then Hayley walked from the shop to her friends house. s
It took Hayley 22 minutes to walk to her friends house. ) ¢ ‘

What time did Hayley artive at her friends house?

/.26 am

.......................................................

~ (Total for.quevstior.n_s is 2 marks)

A film starts at 7.45 pm.
The film lasts 98 minutes.

Lo mint 4 A& aiin S
What time does the film finish? ' - : -

‘7.Lt§ 2.4 5 g 00 9.273
\—-/} N2 +M 5
6o mivs FIS miad i B B 3R

Natalie drives from London to Shefﬁeld.

Natalie leaves London at 9.15 am. )

Natalie drives for 2 1 hours before stopping for a break. J1.30

: A\e\‘o Vs l ‘5 fa RN o > ‘
The break lasts for 20 minutes. . . 50
Natalie then takes another 85 minutés to reach Sheffield. 12 .50

Veour 25 anins
What time does Natalie arrive in Sheffield? D

1.5

.......................................................

(Total for question 7 is 2 marks)

Lhi%pe] )




Here is part of a train timetable.

London St Pancras 0540 0618 | 0701 | 0755
Ebbsfleet’ | 0558 - - 0812
 Ashford | o624 0655 - -
Paris , 0917 | 0947 | - 1017 | 1117

(2) A train leaves London St Pancras at 0618, how many minutes should it take to reach Paris?

OB1Y — ©OJGy 7

©618 —~— o094 § —> OQuT
B\r\c)ufs 29 rmins

e e 2.0° inutes
g o 4+ 29 = 207 ..... 7 ............... .ll(lll;mtes

. (b) What is the difference, in minutes, between the time it takes for the 0540 train and the 0618 train
from London St Pancras to reach Paris?

0546 —> 09117

05G%0 —D08¢46 — 09 (7
3 hours AT min s

Dhows 37 = Blewrs 2 o
‘ AL AL .

......................................................

Georgie lives in Ashford. She has to get to a meeting in Paris for 1030.
(c) What is the time of the latest train she can get from Ashford? - -

.................. Q6. 54...
(1)

(Total for question 8 is 4 marks)




4

9

Here is part of a bus timetable.

Woolwich - | 0717 | 0724 | 0732 |- 0739 - 0746
Woolwich Arsemal | 0719 | 076 | 0734 | 0741 | 0M8
Plumstead Station | 0725 | 0732 | 0740 0747 | . 0754
Plumstead Comer | 0730 o737 | o745 | 0752 | 0759
Upper Wickham Lane 0737 | o744 | o072 | 0759 | 0806
Welling Corner | 0743 0750 | 0758 | 0805 | 0813
Boxlegheath | 0754 | 0801 | 0809 | 0817 .| 0825
Crayford T [ osos | osit | os19 | 0827 0835
Dartford Station | 0814 | 0823 | 0831 | ‘0839 | = 0847
Darent Valley Hospital 0824 0833 | 0841 | 0849 0857
Bluewater = | 0828 0837 | 0845 0853 | 0901

(a) Abus leaves Woolwich at 0724, how many minutes does this bus take to ‘reach .Bl__uéWater?
072w — 6% 377

6T72¢ — o¥24 -~ 0¥3IT]
| ‘\nwr‘ V% i ?

Lo A+ l1 3 o S 73 ............ :..'.minutes_

Jeff needs to get from Bexleyheath to Bluewater to start work at 9 am.
Tt takes Jeff 12 minutes to walk from his house to the bus stop in Bexleyheath.

1)

uwe.wﬂ“"",'

It takes Jeff 8 minutes to walk from the bus station in Bluewater to his work. ge+ o gl
(b) What is the latest time Jeff can leave his house to get to work on time? 52
Musk arrive at Blutvolts et OFYS5
" L ¥ F 0%0
Bexleghewth bus ot OFOT
—l2 wins
0757
............. O 75‘—7..

(Total for question 9 is 4 marks)

7570»1/%

/
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10  Here is part of a train timetable.

London Marylebone | 1410 1440 1510 1540 4
High Wycombe 1433 - 1534 | .
Banbury - 1506 1541 1608 | 1639 - |
Leamington Spa 1524 1559 | 1626 | -1657.

- | Warwick Parkway ' 1530 | 1606 .1631. - 1705

| Solihull ; 1544 | 1622 1644 1721

| Birmingham Moor Street | 1556 1632 | 1653 1735

(a) A train leaves London Marylebone at 1440, what time does it arrive in Birmingham Moor
Street? -

.......................................................

. 1
(b) How many minutes should the 1410 train take to get from London Marylebone to M
Birmingham Moor Street? : '
410 ~—= [15/0 — /55£
| \ Wevr l,{/é padn s
Lo tY4 il T )xg R /Oé ................ .Izlli;lutes |

Millie goes from Banbury to Birmingham Moor Street on the train.

- Millie takes 16 minutes to get from her house to the train station in Banbury:
She takes 20 minutes to get from Birmingham Moor Street station to her meeting.

Millie needs to get to the meeting by 5 pm.
Millie leaves her home at 3.15 pm.

(¢) Does Millie get to her meeting by Spm?
You must show all your working.

3.15 331 Teaw AT ISY) aeews 4T /¢392

S~
14 -
Mmins /€32 /¢52
NG —
. + 20 :
| mins :
\{‘e,‘) Sl/\e &J{y\{v\e j\ 0\‘*— (65 ’L_................' ............................ (3)

(Total for question 10 is 5 marks) .

N /
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1 The accurate scale drawing shows a small box and a large box
5"
Large box “1-
Small box - \50(‘\
The small box has a real height of 20 centimetres.
Find an estimate for the real height of the large box.
J. 5 em = 20 em o
% 5 e & [S times 'fw&c’e/] |
7. 5cm = J00cm o
or ] m
(Total for question 1 is 2 marks)

o . _/




The accurate scale drawing shows a garage and a house.

‘Hopse

Garage |\.

The garage has a real height of 2.4 metres.

Find an estimate for the real height, in metres, of the house.

/. $ecm = 2.4 M

7.6\»}0/\*’ = IDM

— = 3

_ ]Ometres
[ﬁ'ccé?f’f 2.6 o /J'Aij |

(Total for question 2 is 2 marks)

J




The accurate scale drawing shows a car.

The car has a reai height of 1.5 metres.

Find an estimate for the real length, ‘inlmetres, for the car.

301»44 = [.5m

. 8em = G Y4m

4‘]‘ metres

Heceor 4 &
(Total for questio;f?a is 2 marks)




The accurate scale drawing shows a field.

o
|

€ (7.5 metres >

The field has a real length of 67.5 metres

Find an estimate for the real perimeter of the field.

7 - (7 & m

=9 - 7
Jer ¢ 7.5 m
- 30 nA

e

- 2(¢7.5)+ 2(3° )

175

fer}meffr

4]

.......... [15. .m

(Total for questioﬂ 4 is 3 marks)
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5

The accurate scale drawing shows three towns, Town A, Town B and Town C.

Town A

X TownB

Town C
The scale is 1:50000
a) Find the real distance between Town A and Town B, in kilometres.
6. 5cm
65 x Soood | =

325000 Cm

325‘0 n

- 3.7 8 kem
’—S‘Q‘S ...... km
_ ‘ (3)
b) Find the real distance between Town A and Town C, in kilometres.

S5cm
5 50000 = 250000 &M

= 2.5km

......... Z 22 km
€)
(Total for question 5 is 6 marks)

/



6 A model car has the length of 8cm. ' -

The scale of the model is 1:50

Work out the length of the real car.
Give your answer in metres.

% x50 = 400 em

........... G

(Total for question 6 is 2 maiks)

7 A map has the scale of 1:50000
The distance between two points on the map is 10 cm.

Work out the real distance between the two points. Give your answer in kilometres.

J]o X 50 o000 = s 0o O cm
= Fo o nq

-2 SkM

..................................

(Total for question 7 is 3 marks)




~ - . —

8 A model plane has the length of 20cm.
The scale of the model is 1:380

Work out the length of the real plane.
Give your answet in metres.

7600 am

1

270 X 38O
= Téem

.............................

(Total for question 8 is 2 marks)

9 A map has the scale of 1:75000
The distance between two points on the map is 12 cm.

‘Work out the real distance between the two points. Give your answer in kilometres.

Core

lz. x TSoec0 = q00 ©c0 0

= 9 000 ™M

g e

i

.............. 7km )

(Total for question 9 is 3 marks)







Write 0.29 as a percentage.

0.29 X100

R

s W

(Total for Question 1 is 1 mark)

‘Write —1—3—6— as a decimal.

5 ~100

.05

(Total for Question 2 is 1 mark)

Write 0.3 as a percentage.

O3 X oo

DO %

Write 18% as a decimal.

Vg ~ 100

(Total for Question 3 is 1 mark)

O 1%

(Total for Question 4 is 1 mark)

- Write 4% as a decimal.

4 = 100

O. OL-

Write 0.3 as a fraction.

(Total for Question 5 is 1 mark)

3

P S

_ [ O
(Total for Question 6 is 1 mark)

/




7 Write %— as a decimal.
Z ot
o . o
/ O ) QL
(Total for Question 7 is 1 mark).
8 Write 0.03 as a fraction.
/ 00O
_(Total for Question 8 is 1 mark)
9 Write 23% as a fraction.
23
| OO |
___(Total for Question 9 is 1 mark)
10 Write 0.79 as a percentage.
0.779 x 100
A
(Total for Question 10 is 1 mark)
11 Write 17% as a fraction.
| 7
— |7
L.C.Q
. (Total for Question 11 is 1 mark)
12 Write 0.25 as a fraction.

/

s a————

a

- (Total for Question 12 is 1 mark)

)




~

13 Write —5% as a percentage.
3. 6
— — e
. 5 9, | © O ‘
6
(Total for Question 13 is 1 mark)
14  Write 0.06 as a percentage.
0.06 X 100
6
(Total for Question 14 is 1 mark)
15 Write 0.11 as a fraction.
/
/ OO
(Total for Question 15 is 1 mark)
16 Write 0.9 as a percentage.
O.9 x /0o
170
(Total for Question 16 is 1 mark)
17 Write 0.19 as a percentage.
O .19 X /0O
(7w
(Total for Question 17 is 1 mark)
18 Write 0.025 as a fraction.

,Q,S' 3 5 o R
/ o T
) 00O ro0

/
] OO QO

(Total for Question 18 is 1 mark)

Gu’l..\d eguL valeat

/




19 Write % as a decimal.
[2 -~ 10O
| 012
(Total for Question 19 is 1 mark)
20 Write % as a decimal.
7 < 10 '
O.7
(Total for Question 20 is 1 mark)
21 Write 0.003 as a fraction.
3
_ L.OC.O
(Total for Question 21 is 1 mark)
22 Write 0.3 as a percentage;
0.3 x100
A0 %
(Total for Question 23 is 1 mark)
o, _ S
23 Write 50 as a percentage.
1. #s o
o oo |
[ C | i7L 5 oy
_ (Total for Question 23 is 1 mark)
24 Write 0.06 as a fraction.

A

s

/ OO0
(Total for Question 24 is 1 mark)

Y




25 Dean says that 13% is greater than 0.1

Is Dean correct?
Give a reason for your answet.

YES ¢ ertmer 134 =013 4 d0./3 > O./
or 0l =100 and 135 > 107

(Total for Question 25 is 1 mark)

26 Tom and Jetry both earn the same monthly salary.

Each month:
Tom saves 35% of his salary.

3 , .
Jerry spends 3 of his salary and saves the rest of his salary.

Work out who saves the most money each month.
You must show your working.

2 .
Jery seves 5 T 407,
jﬂg}f Sowves MMove MoAli,

(Total for Question 26 is 2 marks)

27 Write the following numbers in order of size.
Start with the smallest number.

0 7 4
75/0. o0 09 g
6.5 .7 : o8

4 . Y
0. @2 754 "5 0.9
(Total for Question 27 is 2 marks)

28 Write the following numbers in order of size.
Start with the smallest number.

1 0 L 9205
03 3 2% 3 .

207, 3%3.3% 25)  20-5

.o /
0- 205 2 /lq' H.3 =

(Total for Question 28 is 2 marks)

- Y,
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1 Emma buys a house for £201 500
" She sells the house for £213 590

Calculate the percentage profit Emma makes.

Chwﬁyﬂ.

- Xloo
or’;j;w.&t

213590 ~201509

261500

= 6/

lo o

(Total for question 1 is 3 marks)

2 Mel buys a house for £352 000
She sells the house for £325 600

Calculate the percentage loss Mel roakes.

C //[,g,n j £

X /00

original

225600 — 352000

352000

-5 2

X

/o o

(Total for question 2 is 3 marks)

/




Last year Geri’s council tax bill was £1815

This year she has to pay £1906 fot her council tax.

Work out the percentage increase in her council tax bill.

Give your answer to 1 decimal place.

1706 - 18512\ .0
/g 15

501377 .

(Total for question 3 is 3 marks)

Last year Victoria paid £354 for her car insurance .
This year she has to pay £329 for her car insurance.
Work out the percentage decrease in her car insurance.

— '
Give your answer to 1 decimal place.

X 1oo

229 — 384
35¢ : |

= = 7.06210...

................................................

(Total for question 4 is 3 marks)

Y
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In 2000, the world population was 6.1 billion.
In 2015, the world population was 7.3 billion.

* Work out the percentage increase in population.
Give your answer cotrect to 1 decimal place.

7.3 -6
6.1

x 100

19.6721. . o

(Total for question 5 is 3 marks)

Banana computers sold 19.3 million computers in 2017.
In 2018, they sold 18.2 million computers.
Work out the percentage decrease in the number of computers sold.

Give your answer to three significant figures.

}g.2 193
/9.3

X (OO

- 5. T8, S

(Total for question 6 is 3 marks)

/




7 Last year Patrick paid £2534 for his annual train ticket.
| This year he has to pay £2612 for his annual train ticket.

Work out the percentage increase in the cost of his train tlcket
Give your answer correct to 3 significant ﬁgures

_:%._é'/z ~ SLIL X 1 OQ
2534 |

3.098139 . Vs

. (Total for question 7 is 3 marks)

8 The average house price in London in 2017 was £474902 .
The average house price in London in 2018 was £469538

Calculate the percentage change in house prices between 201 7 and 201 8.
Give your answer correct to 1 dec1ma1 place.

469538 — 474902 )
47y 702

/OO

_ 1129494, Y.

o
—

(Total for question 8 is 3 marks)

_ - -




Richard buys a car for £13 500
He sells the car for £9 500

Work out Richard’s percentage loss,
Give your answer correct to three significant figures.

7500 -

P
/|3 5co

= - 29 629¢6...

13500

¥ /oo

[~

o

10

Lottie buys a pack of 50 cans of lemonade.

(Total for question 9 is 3 marks)

She pays £17 for the cans. _ |

Lottie sells 32 of the cans for 50p each. | 22 x 0.5 = | 6

She sells the temaining cans for 20p each. |2 x O. 2 = =.€

Work out Lottie’s percentage profit.

Give your answet correct to three significant figures. oA q ¢o
- —

e

.............................................

(Total for question 10 is 3 marks)

/




11 Karen buys a pack of 8 bottles of water.
The pack costs £1.25

Karen sells all 8 bottles of water for 50p each. <K v O . € p [

Work out Karen’s percentage profit.

4 —1.25

——

/.25

X JOo o

.............. 220 v

(Total for question 11 is 3 marks)

12 Theo buys 24 packs of crisps.
 Hepays £3 for the crisps.

fy

' Theo sells each pack of crisps for 50p. 24 ¥ 0.5

Work out Theo’s percentage profit.

12 - 3
3

X 0o 0

............... 300

(-Tot_al for question- 12 is 3 marks)

. o




- 13 Donald buys a pack of 9 chocolate bars.
The pack costs £2.50

Donald sells gll 9 chocolate bars.fo.r 45p each. c7 v O (f N % 05

Work out Donald’s percentage profit.

Lr. 05 ~2.50 v /0o
2.5 0

................ AP

(Total for question 13 is 3 marks)

14 Alanbuys 1.2 kg of sweets. 200 9
He pays £2.25 for the sweets.

Alan puts the sweets into bags. (200 - € i og s
He puts 150g of sweets in each bag. Ty so ' :
He sells each bag of sweets for 30p.
Work out Alan’s percentage profit.

¢ x 0.3 = .49

5 4 - .25 X OO0

Z
z .25
6.6 /e
................. %

[ex €71 // 6. 677
(Total for question 14 is 4 marks)

- y
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1

The value of a house increased by 6%.
The house then had a value of £265 000

Work out the value of the house before the increase.

X x |l.oc = 265 o000
a <= 2685 oo 0
/06

= 2580000

265000 = /06
*lo¢ v /o€
72500 = /%

x /00 X (00

21260 0e0 = /00.2

£ 250 000

In a sale, the normal price of a book is reduced by 20%.

The sale price of the book is £4.80

Work out the normal price of the book.

2 x 0.8 = ¥ €°

0. ¥

- ¢

(Total for Question 1 is 2 marks)

£ 4§

The value of a litre of petrol increased by 8%.
A litre of petrol then cost £1.62

Work out the price of a litre of petrol before the increase.

2 x J o = /.62

2= fZ
/.o &
=}/. 5o

(Total for Question 2 is 2 marks)

. [ 5o

(Total for Question 3 is 2 marks)

/







/

4

In a sale, normal prices are reduced by 25%.
The normal price of a coat is reduced by £12

Work out the normal price of the coat.

ST
43 = oo

G &

£

The sale price of the TV is £660

Work out the normal price of the TV.

XX 0.8 =

£60
= 6460
o Pt
o. ¢
= Q25

In a sale, the normal price of a TV is reduced by 20%.

(Total for Question 4 is 2 marks)

g 8AS5

The cost of a council tax bill increased by 5%.
The council tax bill increased by £62.

Work out the cost of the council tax bill before the increase -

6§62 = 5/
X2o X&O
] 2406 = /00/

[

(Total for Question 5 is 2 marks)

6.2 40
(Total for Question 6 is 2 marks)

j






7 The price of a train season ticket increased by 4%. .
The price of the ticket increased by £152.20

- Work out the price of the train ticket before the increase.
\‘ : o
jg52.20 = Y/0
X2 5 25
o

. 33058

(Total for Question 7 is 2 marks)

8 In a sale, the normal price of a car is reduced by 30%.
The sale price of the car is £6300 '

Work out the normal price of the car.

£3060 = 70/
=7 ~7

X /o Klo
£ 7000

(Total for Question 8 is 2 marks)

4-..90‘00 . /ooZ

9 In a sale, normal prices are reduced by 15%.
The normal price of a pen is reduced by £1.20

Work out the normal price of the pen.

/.20 9/5;%

-~ 5 = 3
0.40 = § /.
X Lo x 2o
g8 = oo/, c Y

(Total for Question 9 is 2 marks)

N )







1 Write down the ratio of 350 cm to 25 cm.
Give your answer in its simplest form.

350¢ 25

295 48

[ l
..... ol

(Total for question 1 is 2 marks)

2 Write down the ratio of 220 kg to 5 kg.
Give your answer in its simplest-form.

920 5
) > 5

iy o

(Totai for quesﬁon 2 is 2 marks)

3 Alex has the following coins:

Write down the ratio of the value of Alex’s 20p coins to the value of Alex’s 50p, coins.
R

Go: |50
TN

.........................................................




4 (a) Write the ratio 32 : 24 in its simplest form
>z =8

473
(b) % of people in a class are left harided.

Write the ratio of left handed people to i ght handed people

[ .

g
—_— s
7

7 -
g edelf

5 (a) Write the ratio 15:35 in its simplest form.

317 | a3y

1
(b) There are red shapes and blue shapes in a box, % of the shapes afe red. (') |
Wite the ratio of red shapes to blue shapes. |
2 . L o
5 2ot
_ W _

; (Tot‘al for question 9 is 2 marks)




— —

6 (2) Write the ratio 81 : 27 in its simplest form
29 2
7:3
r3 =7 | | 2
3 | (1) ......

(b) —38— of chocolates in a box are white chocolate, the rest are milk chocolate.

Write the ratio of white chocolates to milk chocolates.

3 .5
1 b2

.................................

(Total for question 6 is 2 marks)

7 (a) Write the ratio 24: 72 in its simplest form.
5 <+ ¥
3.9
|2 - R i3

(D
(b) In February, it rained on ; of days
Write the ratio of the days it rained to the number of days it did not rain.
T
7 7 g ?L
(1)

(Total for question 9 is 2 marks)




8 Write the ratio 7.5:2.5 inthe formn: 1
2.5 <2.5

31

I L L T R TN

- (Total for question 8 is 1 mark)

9 Write the ratio 12 : 30 inthe form 1:#
SN E
2:5
) 2.5

-------------------------------------------------------

(Totél for question 9 is 1 mark)

| 10 There are some cubes in a b'ag.

% of the cubes are red.

The rest of the cubes are blue.

Write the ratio of the number of red cubes to the number of blue cubes.
Give your answer in the form 1 : »n

Lo 5
6 ¢
| - &5

.......................................................

(Total for question 10 is 2 marks)

N -




11 There are only blue counters, red counters and yellow counters in a bag.
8:Y
There are twice as many blue counters as yellow counters. 2
There are three times as many red counters as yellow counters. Ly
3|

Write down the ratio of blue counters to red counters to yellow counters.

B R oY
23 Co

(Total for question 11 is 2 marks)

12 There are only green pens, black pens and red pens in a box.

There are four times as many green pens as black pens. ¥ ° !
There are twice as many red pens as green pens. ¢- 8

Write down the ratio of green pens to black pens to red pens.

G B

-------------------------------------------------------

(Total for question 12 is 2 marks)

N o - -



13 Charlotte, Jo and Mike played a game.
Charlotte’s scored four times as many points as Jo.
Mike’s scored half as many points as Charlotte.
Write down the ratio of Charlotte’s points to Jo’s points to Mike’s points
(Total for question 13 is 2 marks) '
14 There are 120 people in a school canteen.

Half of the people in the canteen are in year 11 students. &0

The number of year 11 students in the canteen is three times the number of year 10 students.
The rest of the people in the cant@en are year 9 students, =~ . 6O - )

the number of year 9 students : the number of year 10 students = n:1

Work out the value of #. :
You must show how you get your answer.

|20 — &0 — 20 = 4O err 9

40 - 2 0
2 < |

(Total for question 14 is 2 marks)

/




15 In a bag there are blue sweets, red sweets and yellow sweets.

The number of red sweets is three times the number: of blue sweets.
The number of yellow sweets is half the number of red sweets.

Write down the ratio of blue sweets to red sweets to yellow sweets.
Give your answer in the form a: b: ¢ where g, b and ¢ are whole numbers

g+ r VY
/| 23 L5
2 6 43

.......................................................

16 In a bag there are blue sweets, red sweets and yellow sweets.

The number of blue sweets is four times the number of yellow sweets.
The number of red sweets is half the number of yellow sweets.

Find the percentage of sweets in the bag that are yellow.

B r Y
0% § .,, . /
g . 2

Vellow %f

2 n o
Iy /00 N %

..................................

(Total for question 16 is 2 marks)

N | | [/s.i8 2]
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1 A machine fills 1000 bottles in 5 hours,

Work: out how many hours it would take the machine to fill 1200 bottles.

g,

IO ‘oo WlEs  tn & \aowal S 37
— 5
Qoo bores in | heor Y

X 6
IR0 tlooHies (Aa G lWowr s J

uuuuuuuuuuuuuuuuuuuuuuuuuuuuu

(Total for question 1 is 2 marks)

2 It costs £0.75 to buy 5 bananas.

Work out how much it would cost to buy 7 bananas.

%Z O 75 Olloa’ 5 boartaso )
yt o
ﬁ @‘/5 JJ—D"' 1 ADCJ(V(G{A@k J
J

x 7

Floos gy

7 AOLMQVLM

.............................

(Total for question 2 is 2 marks)j




3 3 tins of beans and 4 tins of tomatoes costs £2.73.

5 tins of beans costs £1.55.

Work out how much one tin of tomatoes costs.

6\ tins DP bLeocnd Ceoil £1.55
¢
[ fj’n 0}’ L,e'a_.q_; C,"Z’»Séj fC’B /

R i o} é.e&.nJ Cos§ 23 z,a‘qé)di

ele

=

2.773 — 0.9% = 31.80
$£1-80 for 4 tias o} fomotoen
£I1-BO = 4 = 0.4 5§

..........................

(Total for guestion 3 is 2 marks)

4 There are 500 sheets in a pack of paper. 500 sheets of paper weigh 2.5kg.

Work out the weight of 50 sheets of paper.

Fod s heets w%fjk 2.‘5}%«3

g’%lo
J

5p 5’/\,@‘&}&3 wreiﬁ& 0:35]&3

(Total for question 4 is 2 marks)j




/ Trwver se prap@(ﬁo»f\ . \
5 Ittakes 2 painters 4 days to complete a job. MC)fe PCKiV\Le{ ¢ = Ley) {’WMQ

Work out how many days it would take 1 painter to complete the same job.

L pointers ‘e 4 days

9/)([{,::%’ ¥ da(dé O}/ ook V\Q@(J{QOL,

.............................

(Total for question 5 is 2 marks)

6 It takes 3 machines 2 days to produce a batch of products

Work out how long it would take 1 machine to produce the same batch of products.
3IXx2 = 6

2 oQatdS of Moachine worske peedeol

P T L L i

(Total for question 6 is 2 marks)/




4 N

7 It takes 3 painters 6 days to complete a job.

Work out how many days it would take 2 painters to complete the same job.

Sx 6 <] &
’? O{Q{HS O)/ w oV K mf&&'{ad

2 palnktss % = 7 doys

.............................

(Total for question 7 is 2 marks)

8 Ittakes 5 machines 6 hours to produce 1000 DVDs
Work out how long it would take 4 machines to produce 1000 DVDs.

hour s

5 x¢ = 3p Macthwe des needadt

B3O _ 7.5 hows

.............................

(Total for question § is 2 marks)j




9 xisinversely proportional to y.

x is given by the formula: x= 1000

Find the value of x when y = 50

» _ J OO
>x = leel = g0
50

..............................

(Total for question 9 is 2 marks)

10 y is directly proportional to x.
y is given by the formula: y=04x

Find the value of y when x = 6
y = 0 e
y =0k (é)
y= 24

t

Y=o ,.-}».‘.:.{T(:. ........
\ ‘ (Total for question 10 is 2 marks)

J




11 The weight of a piece of wire (w grams) is directly proportional to its length (/ cm).

w is given by the formula: w=30/

Find the length of a wire weighing 75 grams.

w = 3oL

75 = 30/
72 =
30

[= 25 cm

R L L LTI T )

(Total for question 11 is 2 marks)

12 The force, F, between two magnets is inversely proportional to the square of the distance, x cm,
between them.

F is given by the formula: F=-—"

Find the Force when two magnets are 3 cm apart.

- 36
Fe 2
e

e

3

o~

—
B

/
Z

3
- 36
"1

=7 oy

r A

\ (Total for question 12 is 2 marks)

)
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13 Here are four graphs.

A " Ya
o) ; Y ;
C %\ Y\
0 ; 0 ;
Match each graph with a statement in the table below.
Proportionality relationship Graph letter

y is directly proportional to x

¥ is inversely proportional to x

y is directly proportional to x*

y is inversely proportional to »*

SENIBNIEN

(Total for question 13 is 2 marks)

)







A sprinter runs a distance of 200 metres in 25 seconds.

Work out the average speed of the sprinter.

g o chistercs
Ipeed T o Lime

0

200 = %1’\/\/5

I

25

2

A block exerts a force of 120 Newtons on the ground.
The block has an area of 2 m* '

Work out the pressure on the ground.

Pr@Sstre = %:_—9 = éON/mZ

......................................................

(Total for que'sti'on 2is 1 mark)

A piece of gold has a mass of 760 grams and a vohime of 40 cm®.
Work out the density of the piece of gold. - v

: S S
density = o lome

1T

.......

A rock has a mass of 56 grams and a density of 3.5 grams/cm3.

Work out the volume of the rock.
. AMmasS

—
—_—

voluwm & density

i-é - U2 = /& cnn
3.5 7 :
/6 cm’

.....................................

(Total for gquestion 4 is 1 mark)

N - ‘ ,/
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A car travels a distance of 230 miles in 4 hotirs and 15 minytes. - e 9§ hevrs

Work out the average speed of the car, in miles per hour.
Give your answerto 1 decimal place.

T eeol = d;!{ahcel
spee —
= 230

5. /"_.”‘"P'."

R L

~

3

miles/hour

(Tptal for question 5 is 2 marks)

6

A'Block exerts a force of 84 Newtons on a table,
The pressure on the table is 30 N/m* '

‘Wortk out the area of the box that is in contact with the table.

- ~fore e .
Pressure
30

i€

==

_ P
= 2.9m

2

7

A liquid has a denSity of 1.3 grams per ml.
Find the mass of 250 ml of the liquid.

Mmo.85 = ol_e/ﬂ»s;‘ezj ) /vfw'm.‘%

= gzsj

Dani leaves her house at 08 00.
She drives 63 miles to work. " o ’
She drives at an average speed of 27 miles per hour.

At what time does Dani arrive at work?.

O ligdance

é‘/jf?'?ea = jfae.oé-
27

v 2 3 A,ourﬁ

..........................................................

2240;1\"‘5 20O nmins

(Total for question 8 is 2 marks)

)




. Anthony travels from Newcastle to Manchester at an average speed of 65 miles per hour.
The journey takes him 2 hours and 15 minutes. 9 2.5 Wewrs. _

Declan makes the same journey in 2 hours and 35 minutes.

(a) Work out Declan’s average speed for the journey.

H’W%o'ifuj . p(,( stan € A“: S‘,w.--e ed | x time
| = &6 x 2.5

0
-
-
A
N
Qj-.«_
3
~
[

RO—

Declan i .
| Aistanct

b) ee’.a’}
/) &im e
. lyc.2s
\ 2.583
Qs 35 wmins

i
Wy
oy
™
o
\
=
<
<
N
~
5

. _ ) ‘. _1
‘%w O 533 Qi
5o

£took g a/iffc.rené ro oS ../}or Co vl
(b) If Declan stopped-fora-brealcduring- his journey, how weuld this affect your answer to part (a)?

.......... Fhe ““M’cg“,fﬁ!éd(& wmewmm ERICHK.

.....

...... the..fp edwmwat/vamghz/

1
(I} tne distance decreared the speed woudet be lower) g
- (Total for question 9 is 5 marks)




. What was Rachel's average speed for the 'Wholze jourﬁey?

Rachel drives 300 miles from London to Newecastle.
She drives the first 165 miles at an average speed. of 60 mph. . . -
From this point it takes Rachel 3 hours and 15 minutes to complete her journey. y

FiksT 165 miLes

distance

Erme =
: speedt

® ff_f ' 2.75 hours

6o

i}

= 2 hours $5 mins

Q,, heours ‘{'5 'l‘. Y heurs 1S = 6 L\e\.\lfg

~r~'3’; VA 7170 B = e e =

‘Z‘D{u-( A 5fa:n €

averaqge Sspeed = _ —
J P Clo/'(;a/i t/me

3oo

¢

i

50 mpl\_

25 evee. Ph

(Total fo:l; question 10 is 4 marks)

_




1

Andrew ran 3.1 miles in 14 minutes and 35 §econds. . \
He assumes he can run 8 miles at the same speed.
(a) Work out how long it would take Andrew to run 8 miles.

Give your answet in minutes and seconds to the nearest second.

speed = T llming 35 secs
Lim £ .
= 1. 583 wmin?
= 3.1
“f.553

0. 212 57 mier/ mia

13

ér £ P —— -ﬁ”""?;/ .Y %/‘
l'b'mf, = 0(;3{&”((
p =
' Spee ol
= ,__..——*8/ e 5'7 m:n S ?) g/ 5,@&
O 2/257
........... 37 mins 38 secCs
@

Andrew’s speed actually decreases.the further he goes.

(b) How does this affect your answer to part (a)?

.............................................................................................................................................................

(Total for question 11 is 5 marks)




Liquid A has a density of 1.2 g/em®

150 cm’ of Liquid A is mixed with some of Liquid B to make Liquid C:

Liquid C has a mass of 210 g and a density of 1.12 g/em®

Find the density of Liquid B. '

L\ofwd l/‘\ . Ma3s = d\é/\%'\)cﬂ xvelunme

R L;clblif’ﬂ C volume = )

- 210

L'?(A.lo( B \/o(wm-e - L-l.ﬁu.l'bl C —_ Lf?mfd A

Liquia & mass = Cqaid ¢ - Liguid A
= 210 — JLe- /&0
= 3979 o |
s L 22
L;?M,a{_ V] o(&hjag = 1:7:/(:»—;14 = 395 T 06.%

(Total for question 12 is 3 marks)




13

100ml of liquid A and 200ml of liquid B are mixed together to make liquid C.

Liquid A has a density of 0.7g/ml.
Liquid B has a density of 1.1 g/ml.

Work the density of liquid C.

Li7ui'0L A -

masSs
Liquicd B mess
Liquid C deasity

o

mpn

ohens ’"77 x volvme

o.7 x 100

..................................................

(Total for question 13 is 4 marks)

2.9
e
30







<«——— 4cm NG

The diagram shows a prism.

Work out the volume of the prism.

e a oy CrpsS s c A on = 2 2 + Do |
= 6 + 2.
2
= g cwm
Vo lume = B X 1
) 3
- S 6

(Total for question 1 is 3 marks)

- 4cm—--> /

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

Calculate the volume of the prism.

2
FC}H”E‘Q- o—P Cro 38 SEection = EXn éc_m
2
vVolume = 6 x €
3
= 48 em

(Total for question 2 is 3 marks)

/




« 8 cm

The diagram shows a prism.
The cross-section of the prism is a trapezium.

Work out the volume of the prism.
\
PFrrea of Cross seerion = (a~+2) <7

= & X T

(Total for question 3 is 3 marks)

“9cm

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

The volume of the prism is 198 cm’

Caloulate the value of X 4y o of' cross seehon = % = 2x
v Z
Ve lam€ = »239 x 9 = R
| §2x = 17 &
raae /7_5 = ___._79 = 1! cwm //
/& 7 (Total for question 4 is 3 marks




G

The diagram shows a cuboid ABCDEFGH
ABCD is a square with area 25cm®.
CG =12 cm.

Find the volume of the cuboid.

\folwm e

—
—

25 x \2

DO O e

(Total for question 5 is 2 marks)

Bob has a van.
He is using the van to deliver boxes.

Each box is a cuboid, 60 cm by 30 cm by 40 cm.

40 cm

30 cm

The van has the space for the boxes in the shape of a cuboid with:

Work out how many boxes can Bob fit
6 0

Wit L2
3o

‘bt 222
He:(j %o
_707/‘6‘»/ Ao,tef

60 cm

length3m d00cm
width1.8m } €@ e~
height2m 9 em

into the van.

5

A

{1

¥

oo

(Total for question 6 is 3 marks)

/




7 The diagram showé a cuboid.

4 cm

12 cm

. . 3
The volume of the cuboid is 120 cm Preo. ol cmss sechonz YK 12

. 2
Calculate the value of x = ¢ & QG

4¢ 2% = (1o for question 7.is 2 marks)
8 The diagram shows an empty water container.
Fiona is going to use a bucket to fill the container. - _ |
Each bucket can hold 12 litres of water.
140 cm
How many buckets of water will be needed to fill the
container?
50 ¢cm
Frre o o) cross Sectionm - 90 cm
- Z
= s o0 cmn
Volome = G5 o0 x o
3
= /&0 o0 o0 C
I
velwm e« = | £0 [//’"eJ
g0 _ 90 . ¢ _ /%
o r
/2 7 3

(Total for question 8 is 4 marks)

\_ . ' )




9 Here is a cube.
3cm
. 3om
Work out the volume of five of these cubes.
v = 3 X 2 X 3
3
27 x 5 =135

3

10 The diagram shows an empty water container.

(Total for question 9 is 2 marks)

The container is going to be filled using a hose pipe.

The water will flow into the container at a rate of 2 litres
per second.

How long will it take for the container to be filled
completely?

50 cm

70 cm

120 cm

v oluwm 2 = 20 X 70 X S o
= SH4 oo X 50
3
— L{’ZOOOO .

[[ooo em' - ( Lt
%20 - 210 seconds

’)/.

(Total for question 10 is 4 marks)

/




11 The total surface area of a cube is 150 cm?, ' - '

Work out the volume of the cube.

/50 — 25— v z -2‘00-1" -7[m(.‘»€ é' —PQ\..C-E_ s
e — =

é

| 252 Jzs = 5 em

3

volume = S x5 <5 /_2,.”5

3 .. CM
- 125 Ccm

(Total for question 11 is 4 marks)

12 The diagram shows a water container.

The container is % full with water.

The water is going to be used to fill cups. | 14 cm
Each cup golds 175 ml of water.

How many cups of water can be completely filled

with water from the container 12 om
15¢cm
veoluwme = 15 x 12 » LU
= 18 x iy Vg0 x lo = V&0 0
2 ¢y = 72 a
= 252 0 o %o = —
2 5 2 ©
_,.2--"-5 ,Z"-.){ 2 5 2 0 el SOHO I 68 &
3 3 3 3t 8%t o

<
J)
G
2
)
C
]
(
=
v

(Total for question 12 is 4 marks)

N o /
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Here is a triangular prism.

....

.....
______
,,,,
4444

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

Calculate the volume of the prism.

2 2 lgL
0 +— 12 =
Z
== = )
S S R &
xz.. - 245‘
x = \]6‘5 = 5
: - X 12
Vicre o 070 CroSS s-ectzr on =
2
z
= 3 Pgcm

30 x 8§

{1

Vo (wn

= 217(/0 Tl 2 ¢ >

Sy Sk N

(Total for question 13 is 5 marks)

3

Lm

/







53°
Y B —
C D
AB and CD are parallel lines.
(2) Write down the size of angle x. 5 3
)
(b) Give a reason for your answer.
..... <v.€.f.¢i'%£.¢g}).....Q.ppos::.tﬁ...@.n. ledafee—‘il/mj
(1
(c) Write down the size of angle y. 5 5
(1)
(d) Give a reason for your answet.
..... ALtermale. . Crtgle. orl BRutod i
(1

(Total for question 1 is 4 marks)




C

AB and CD are parallel lines.
An angle of 110° is shown on the diagram.

(a) Write down the letter of one other angle of size 110°

(b) Give a reason for your answer.

.............................

AB and CD are parallel lines.

(a) Find the size of angle x Vg0 "'_ 3L = 148

| M
(b) Give a reason for your answer.

------------------------------------------------------------------------------

..................................................................

CorreSpond i~y / a lkenote J (Total for question 3 is 3 marks)




D

ABCD is a parallelogram.
CBE is a straight line,
Angle BAD = 128°
Angle AEB = 39°

Find the size of angle BAE.
Give a reason for each stage of your working.

o

Ao - ArRE = (28 Altecn ot W\Ole.a e
. chu_out
log + 39 = l67°
fyo —1l&77 - (3°
[S/AE g /3:‘) }47"-9 /-e.i in a —,L‘V;an_j /_ew 0_0(5[ '?LO
Jgo!
I 3 .

.............................

(Total for questioh 4 is 3 marks)

Y,




A B
C D

AB and CD are parallel lines.
EFG is an isosceles triangle
Angle AEG = 110°
Find the size of angle FGD.
Give a reason for each stage of your working.

4ngle FEG = 150 — 110

= 70
Angle £FG = 70° Pngles at Fne bose of

oL I'SOSt_e lfe i +ria-fl3/—€ g

A-n 3/—8 ‘ e ) ]80 _- 70 ’7 o l‘qﬂg s i a
120"
Fép = 7o - Kitecnate *19 /e s o "2«7 vl

.......... WAG N

~ (Total for question 5 is 3 marks)

/




J
AB and CD are parallel.
Angle HIK = 85°
Angle BFH = 32°
Find the size of angle FEG.
You must show how you got your answet.
EFQ = 32 OPFUS'Y’Q_ vowlgle.s afl é 6«7‘4-“f
Fé,/ = 85& Colfe.S/)oﬂoft"nﬁ angled are Q?M”‘/
‘ T (/ne
FuF = 950  Angles ot * Straighd 07
Jdd Ao ]850,
(/5’0 - 8§85 7 75')-
/g0 — 95 — %2 = 55
eg = 530 Hegles ina Trengle A T
/804 53 .

.............................

(Total for question 6 is 3 marks)

/




A4 B
C D
AB aﬁd CD are parallel.
Find the size of angle x.
Give a reason for each stage of your working.
)fo —l20 = €9
) o ' . ) / Q¢
AFE = &0 Co 1nterisr anﬂ/-eJ add 7o f",
eFe = 180 — cfg - 35 = 97°
ﬁhj/es ISP angle ool 7o /80 °
180 — 97 — €0 = 23°
2C = 23 o }qﬂ‘j le s & ea S‘f:’a "8L\ -é [/Fh"e 4\0(0(
6 /60"
......... A T

(Total for question 7 is 4 marks)

Y




D C
ABCD is a parallelogram.
Angle DAE = 63°
Angle BCD = 124°
Angle CBD =25°

Calculate the size of angle x.
Give reasons for each stage of your answer.

O/Wfo S’;fe a/lﬁ /f?.,‘d" i O /00«(- a. //—é/a(j np] P 27 ol uv{,

BAD = 124
BAE = 124 — 435 = ¢/ °
AEC = /PO —lzy = 5‘(6 Co Interisc ongles ok A
L 180°

Abe = S6-25 = F/°

Hngf-é..’l P a
f,’,(anﬂle aolol o /J’do

1s0 — €7 — 3/ = &7

-----------------------------

(Total for question 8 is 3 marks)

/







~

—

1 Here are four angles A, B, C and D.

A : B C

(a) Measure the size of angle C.

(b) Match the'angle mathematical name to the angle.

Mathematical Name . Angle
Acute Angle Z>
Obtuse Angle | C ‘

_ RightAngle | 4L
Reflex Angle | /3

(Total for _quéstion 7__-is 3 .marks)

2

In the space below draw an angle of 60°
Label the angle 4.

(Total for question 2 is 1 mark)

/




e

3

In the spacé below draw an anglé of 110°

Label the angle B.
(Total for question 3is 1 mark)
Diagrams are NOT accurately drawn, unless otherwise indicated.
4 ABC is a straight line. Work out the size of the angle marked x.
A C
i
(Total for question 4 is 2 marks)

S

FJo + 145 = 235

360 — 235 % 125

125

(Total for question S is 2 marks)




AB and BC are perpendicular lines. Work out the size of the angle marked x.

y

52°

9o — 52

Y-

(Total for question 6 is 2 marks)

ABC is an isosceles triangle Work out the size of the angle marked x.

B

65 © 65 = /30
— 13 O - 50

50 -

(Total for question 7 is 2 marks)

/




(2) Work out the size of the angle marked x. | § @ ~130

48 >

(b) Give a reason for your answer.

Angles on.  a wm,'jw (the oold . to 180°

(Total for que_stion 8_is 2 marks)

The diagram shows a square ABDE and an equilateral triangle BCD.

4 B
. C
, y5 o '

E D
(a) Write down the size of angle ABD

o 70 -
(b) Write down the size of angle BCD |
(c) Find the size of angle ADC | | eQ

45 60O

/O'S °

(Total for question 9 is 4 marks)

~



11

10
g +i122 = 221
22/ +90 = 31 /
(a) Work out the sizg of the apgle marked x. 60 — 3/ | = £74_ G
- 47
(b) Give a reason for your answer. o
Mmgﬂm QrOUNd.. o 'V/po;”n Cooold o - 560°
(Total for question 10 is 2 marks)
&g+ T2 = a6
- ®
(a) Work out the size of the angle ABC. g0 — 4 é‘ Lt_
< Y °
(b) Give a reason for your answer. ' '

Pw\cg}m-;x TA O tk-i'wx'%(e add o \‘&@

(Total for question 11 is 2 marks)

/



12 ABCis a straight line. Work out the size of the angle BDC.

D

26

(Total for question 12 is 4 marks)

13

- (a) Work out the size of the angle marked x.

R S

(b) Work out fhc size of the angle marked y.

G'L""‘Gz‘ = |24 o . 7'
— L 24 56 °

L $0
(c) Giveareasorbfor your énswer. :
rengled. ot The  hatl of aa [oScetey drienyle
ace Q?{/LM A D ane) les M e F fc/m&a le odd o 180 °
(Total for question 13 is 3 marks)




ABC is a straight line.

Show that ABD is an isosceles triangle

o

ARBD = O 4 HLV?J (2.5 on aw st /u.»‘cj bt /7 3
Ak A 1 FO ’

1

56 F ¥ 2

f g O — l‘?.ﬁ-(—— — 65 é
A DA6 = 567 Avgles (mow Erimyle ok
b 1EO°

72v 0 &L/\.(y /aJ 2.7.(4 a/C Ise Sce (e g‘f"zrb«-v /—d

(Totél for queétion 14 s 4 marks)







N
y 120°
P
B
(a) Write down the bearing of B from P.
(2.0
(b) Work out the bearing of 4 from P. W
, 4y
(Total for Question 1 is 2 marks)
AN
AN
(a) Measure the bearing of B from 4.
(b) Measure the bearing of 4 from B. | (1)
360 —65 295 -
(1)
(Total for Question 2 is 2 marks)

)




The accurate scale drawing shows the positions of boat 4 and boat B.

Boat C is on a bearing of 065° from 4.
Boat C is on a bearing of 315° from B.

On the diagram, mark with a cross (x) the position of boat C on the diagram.
’ ~ (Total for Question 3 is 2 marks)




The accurate scale drawing shows the positions of boat 4 and boat B.

N
A
N
A
AP
/ BN NWE%&"‘-':-.
/ >
;’f‘
//'
/’/ \
g
// C

_ , 52 cm
(2) Find the distance from 4 to B.
50 +2 = a2.6

(b) Measure the bearing of B from 4.

Another boat C is 2.5 km from A on a bearing of 210°

(c) On the diagram, mark the position of boat C with a cross ().

2. gk,v, = 56//"‘

Scale
2 cm represents 1 km

(Total for Question 4 is 4 marks)




The accurate scale drawing shows the positions of point 4 and point B.

Point C is 8 cm from point 4 on a bearing of 070°

> Z

(a) Find the distance from B to C.

5. 2cm 5 2

cm

(b) Find the beafing of C from B. . ‘ 2

(2)
(Total for Question 5 is 4 marks)




The accurate scale drawing shows the positions of point 4 and point 5.
1 cm represents 100 m.

N
A
N <
A
W B
5,
‘\\-
\\“
47 5,
(a) Find the bearing of 4 from B.
Ao — 115
. .2/ L—l— 5 o
(1)
Point Cis 450 m from B on a bearing of 150°
(b) Draw point C, with a cross (x), on the diagram. (2)

(Total for Question 6 is 3 marks)




\

The accurate scale drawing shows the positions of two towns, town 4 and town B, -
2 cm represents 1 km.

N
A
N
A
4%
B
C
(a) Find the real distance between town 4 and town B.
Scm = 2. 5km |
2. 5
(1
Town Cis 3.2 km from B on a bearing of 255°
(b) Draw the position of town C, with a cross (), on the diagram. @

3.2km = L. Y Em

Do - A55 = o8
(Total for Question 7 is 3 marks)




8 Oxford is on a bearing of 330° from Cambridge. '

Find the bearing of Cambridge from Oxford.

[+]

/ 50

(Total for Question 8 is 2 marks)

9 The bearing of London from Liverpool is 130°

Find the bearing of Liverpool from London.

210 i

(Total for Question 9 is 2 marks)

N /







1

The diagram shows two shapes on a centimetre grid.

{

v

&

e

%2

(a) Find the area of shape P

bose x heghb Lﬁ,y,é’-—

2

(b) Write down the mathematical name for shape Q.

(c) Find the area of shape Q.
bose x Mﬁgklf
3x 6 = 15em

2z

(2

| ’{mm Wel ° 4 o

/S

(Total for question 1is 3 marks)




- The perimeter of the rectangle is 24 cm.

. The length of a rectangle is two times the width of the rectangle. = |

i ol”’lm {2 9 h., /).emm,e(—«:r‘

/'7—\'

2
B A

- Draw the rectangle on the centimetre grid.

3

(Total..forv_questioln 2is2 maljks)

The length of a rectangle is three times he width of the rectangle. _ o
The area of the rectangle is 48 cm?. ' o L -
Draw the rectangle on'the centimetre grid. ' : "

9 IR X
- 3 7 27
4 x 12 oy /2 ¢« &

(Total for qu'eSﬁDn 3 is 2 marks) _. .A

_J



4

~

The base of a triangle twice the height of the triangle. o o ol
The area of a triangle is 16 cm®. . . bofe i ey
_ heig W bare T
Draw the triangle on the centimetre grid. . o g

bast x heigwr =] ¢ 23' ¢ 1%

ot Ay ,

2. ’ ¢ & 37T d
besg x Weight = 32
\
\
\

(Total for question 4 is 2 marks)

5

The base of a parallelogram twice the perpendicular height of the parallelogram.

The area of the parallelogram is 50 cm”.
' L w -2

¢

£
jo

Draw the parallelogram on the centimetre grid.

VJU‘?)"“““ NI
3 ) &
32
sff 50 7

(Total for question 5 is 2 marks)

/




Here is a rectangle.

7 cm

4cm™

The six-sided shape below is made from two of these rectangles.

¢ 7

Work out the perimeter of this six-sided shape.

Ja g4 Ty ¥ TEIE

26

cm

17

('T(‘)tal for question 6 s 3 Amarks)

A square has an area of 64 cm?. K
| gx % =LY
3 64 cm® ¥
Find the perimeter of the square. €
y x 8 = 372
32 om

A (Total for questioh 7 is 2 marks)

y



|8 A square has a perimeter of 36 cm. h

Find the area of the square.

g , cm”

(Total for question 8 is 2 marks)

9 The diagram shows a right angled triangle and a parallelogram.
7 cm / | /
I 14cm :
4 cm : '

The area of the parallelogram is four times the area of the triangle.
The perpendicular height of the parallelogram is h.

Find the value of . »

Bred o) Jc*YfMglé = U7

G x 1y = 54 em”

h= (7£

(Total for question 9 is 3 marks)

T . -




| 10 The diagram shows a garden is in the shape of a trapezium. ' R

S5m
A

7m

v10m

Find the area of the garden. .
,fl-(O\ +b) X, l/L
L(sri0)x7
5 v
é (15) x7
7.5 x7 52.5 "

(Total for question 10 is 3 m-al_'ks)

(-

11 Here is a trapezium drawn on a centimetre grid. |

i e, e B
/{\.
-
INENAN
UE N
\ N
| A
T E— Y
Find the area of the trapezium.
L) <2 |
cgg DS 5 | 275 cm’

(Total for question 11 is 2 marks)

. -




/

12 The diagram shows a trapezium with an area of 30 cm” and a perpendicular height 7 cm?,

3cm
A
h
A
7 cm
Find the value of 4.
L(z3v7)xh = 20
- o
)2,; (1 I 3 X l/\ - 3

h= O/ | [&m]'r

(Total for question 12 is 2 marks)

13 The diagram shows a trapezium with an area of 45 cm” and a perpendicular height 4 cm”.

6 cm

Find the value of 4.

z
L)k
7.6 b 7
Los =6

7.5 ¢ h= ( [ C_.;/w7

(Total for question 13 is 2 marks).

/







s 7 cm

Work out the area of the shape.
Sel = DS
'.’/2. o XD = {0

9 cm

8 cm
The diagram shows a shape.
Work out the area of the shape.
gx 9 = Ta
A oetax s T 30

2z

4 cm——m=_p

Diagram NOT accurately drawn

......... D o
(Total 3 marks)
Diagram NOT
accurately drawn
........... R

(Total 4 marks)




3.  Hereis a trapezium.

“——— G om ——

]

5 em 30

A
v

10 em

Diagram NOT accurately drawn
Work out the area of the trapezium.
Sy = 30

Yo xlex B T 1O

...................... RN

(Total 2 marks)

4,  The diagram shows a wall with a door in it.

A4

4m

£

Diagram NOT
accurately drawn

Work out the shaded area.

By =L
lx 2 =2

&)
{Total 3 marks)




5.

The diagram shows a 6-sided shape made from a rectangle and a right-angled triangle.

] 2on ] Diagram NOT
accurately drawn
7 cm
12 em L
* 6om
& 5
B!
Work out the total area of the 6-sided shape.
Dt = 2y

}?:v(,x‘fs -~ 13D

(Total 3 marks)




10 cm

The diagram shows 3 small rectangles inside a large rectangle,
The large rectangle is 10 ¢m by 8 cm.
Each of the 3 small rectangles is 4 cm by 2 em.

Work out the area of the region shown shaded in the diagram.

o x ¥ = BO

Diagram NOT
accurately drawn

8 cm

(Total 3 marks)




9cm M 7om

Sem

12cm
Diagram NOT accurately drawn
Work out the area of the shape.
ta, > 5 T 60
4 . = /O
Gk e ke 5

(Total 4 marks)




«—— 2em—

Diagram NOT accurately drawn
The diagram shows a rectangle inside a triangle.

The triangle has a base of 12 cm and a height of 10 cm.
The rectangle is 5 cm by 3 cm.

Work out the area of the region shown shaded in the diagram.

o

1

yLk'l;Z.X’/O

3 h G

(Total 3 marks)



75m

100m

Diagram NOT accurately drawn

The diagram shows the plan of a field.
The farmer sells the field for £3 per square metre.

Work out the total amount of money the farmer should get.

] e .2“775
/£ > 70O X ¥ 5 i
PO 477 &
fow S ¥ 3
gLole2s

(Total 5 marks)







1
A 4.8 cm B
]
3.6 cm
X’
C
Calculate the length of AC.
2 2 z
3.6 +4.8 = X
.’L
26 = o
X = \‘S 6
= &
N Q.o em
(Total for question 1 is 3 marks)
4 o
|| B
6.75 cm 17.55 cm
C
Calculate the length ofq%g
: ) )
' 2
t. )7 58St~ £.75
X
"= 262.4Y
X = N262 . ¢4
= /6. 72

.......................................

(Total for question 2 is 3 marks)

/




A
14 cm
6 cm
B
C
B x
Calculate the length of BC.
Give your answer to 1 decimal place.
2
- A _é'z' = / %
Z
A
P = /L0
ac = \Ir/,g—:
= /2.4 (/ 6//") /2‘{ ............. cm
(Total for question 3 is 3 marks)
A
>
42 cm|
.
C
B 5.6 cm
Calculate the length of AC.
- 2
42+ 5 € = 7%
z
y7 = x
z = (49
= A em
(Total for question 4 is 3 marks)

/




~

S

Calculate the length of the 4D.
Give your answer to 3 significant figures.

10m

19m
J x
B 14m A
rA z & 3 i ”l z
1y +y = 19 T4 (2.8¢53 = X
. 4_,/ ¢ <
g =17 265 = =x
\.7 = /165 o LS
j = (165 = /4.3 (ZSP)
- J2.854527%.. . S
| 6.3

..........................................

(Total for question 5 is 4 marks)

6

Calculate the length of the AB.
Give your answer to 3 significant figures.

4" 175 =y
. 2.
£€5 = ¢

z

2"+ 9y = 1.5

x© +65 = 7.5°

7(.1: 7‘5"2—-—*45

x.a" = 15.25

x T\ 25 25

= 5 02 GSU

95cm

7 cm

(Total for question 5 is 4 marks)

/




A ' 17 cm B
2x 8 cm
D C
ABCD is a rectangle .

Calculate the length of the diagonal AC.

Give your answer correct to 1 decimal place.

<]

3583 =

z
7 T oo¢

2
=

2

-----------------------------------------

(Total for question 7 is 3 marks)

8

ABCD is a trapezium.

Calculate the length of BC.

2
xt 4as® = 17
xZ= 172-167°
x" = 64
.)l'/;"‘jéff
= ¥
Bc = 12 -~ B8

15 cm B

12 cm |

B

Ceeenesieissansiee ? ..................... cm

(Total for question 8 is 3 marks)




//”

9

ABC is an isosceles triangle.

Calculate the perpendicular height of ABC.
Give your answer correct to 3 significant figures..

” ,
mz' +- = /0 ¢
s 2
x s = e, - 5#
x° = BY
x = {84
= 9.17 (58
oo ﬁ /7 .............. cm
(Total for question 9 is 3 marks)
10  ABCD is a trapezium. ~ e
s
13 ”
Calculate the length of AC. = e 5
Give your answer correct to 3 significant figures.. s Jg
B o %8 cm
¢ -
3 5 3cm P d
'/
6 x | vd [
Z A D
mz" + S = = ‘ S 2 C .
x*= 13575 g gc+127 7Y
11 = [ ¢ % 8 :jl z20&
x S Nlgw & 32"\1108
’ |2 4 =l
= (2 %j = SL (f
(3s4)

RO K em

(Total for question 10 is 4 marks)




11 A ship leaves point A and sails for 3.7 km due North.
The ship then sails for 2.4 km due East to reach point B.

Give your answer correct to 1 decimal place.

Calculate the the shortest distance between point A and point B. -

L/_“Lf ............... km

(Total for question 11 is 3 marks)

g 5O

12 A ladder reaches 2.5 m up a vertical wall.

Find the length of the ladder.

The base of the ladder is 70 cm from the base of the wall on a horizontal ground.

2
76 o+ 250 = xL | x 0
& 7400 = X ¥
x" = 67400
x = (67400 70
= 259 6/50997 cm
= 260 cnam (ﬂemf@J ¢ CM)
e 6.0 .
(Total for question 12 is 4 marks)
K ok 2.6n j




13  ABCD is a square. 4 B
The diagonal of the square is 8 m.
Calculate the perimeter of the square.
Give your answer correct to one decimal place. x
g m
2
~ + a’ = 8 .
D X C
2
2x. = &Y
xz’ = 2
. = m
= 5656854249 m
WX 5656 = 22 6m o)
............ ZZ6m
(Total for question 13 is 3 marks)
14 A television has a diagonal length of 50 inches.

The ratio of the length of the television to the width of the television is 4:3

Calculate the length and the width of the television.
Give your answers correct to 1 decimal place. o
5 30¢
. 2 2 z
(3 x) + (4x) = So
: g G
Qo o™ = 2500
25x% = 2500
x 2 = Joo
x = 10
4 X110 = &40 e
3 /o = 2o Length «o.ooeeenfiinn, R inches
P =
Width ............ SO ................... inches

(Total for question 14 is 3 marks)







e

1 Stevie spins a fair 4-sided spinner.

ik

(a) On the probability scale mark with a cross (X) the probability that the spinner lands on A.

O A e
< |

(b) Write down the probability that the spinner lands on C. :
Q— orR "

|
3
0 - B
| PR 1 )

4

~ (Total for'Que'stibn 1is2 ma

(1)
rks)

2

Sophie spins a fair 4-sided spinner.

SN

(a) On the probability scale mark with a cross (X) the probability that the spinner lands on 2. -

I RN |
| O 1
0 1 1
2 (H
(b) Write down the probability that the spinner lands on 4. |
(0

(Total for Question 2 is 2 marks)

/




The probability of an event is marked with a cross (X) on the probability scale.

Write down an estimate for the probability of the event.

-

2
(Total for Question 3 is 1 mark)

Here is a list of 8 numbers.
1 2 3 4
One of the numbers‘ is chosen at random.

Write down the probability that this number is 9.

i

S

3

(Total for Question 4 is 1 mark)

There are 11 pens in a box.
5 pens are red.

4 pens are blue.

2 pens is green.

On pen is selected at random from the box.

(a) Write down the probability that pen is green.

(b) Write down the probability that pen is black.

(1)

(Total for Question 5 is 2 marks)




I

An ordinary fair dice is thrown once.

(a) On the probability scale mark with a cross (X) the probability that the dice lands on an even
number.

I | I N | | |
| I ! N I I !

1
0 p : W

(b) Write down the probability that the dice lands on a number less than 3.
2 \
/ 0% ’? é,;—
6 M

(Total for Question 6 is 2 marks)

An ordinary fair dice is thrown once.

(a) On the probability scale mark with a cross (X) the probability that the dice lands on 10.

o
= —
—_

(b) Write down the probability that the dice lands on a number greater than 3,
2 ‘ I

Ji 2

(1)

(TotaI for Question 7 is 2 marks)

An ordinary fair dice is thrown once.

(a) On the probability scale mark with a cross (X) the probability that the dice lands on a number less
than 7.

| | N
I I 7N

. m

Y e

(b) Write down the probability that the dice laﬁds on 5.

()

(Total for Question 8 is 2 marks)/




9 Sam spins a fair 8-sided spinner.

Write down the probability that the spinner lands on A.

(Total_.‘ for ,Questioﬁ 9 .is 1 mark)

10 Raphael buys one raffle ticket,

A total of 250 rafﬂe tickets are sold.
One of these tickets will win the raffle.
Each ticket has an equal chance of winning the raffle.

(a) Write down the probability that Raphael's ticket will win the raffle. /

(b) Write down the probability that Raphael’s ticket will not win the "raff'lé. o

L 2.2.0
(Total for Question 10 is 2 marks)

| 11 The probability of Barry winning a Badminton match is %

Work outft'he probaBi]ity that Barry does not win a Badmititon match'.l'
_ e
/v
.. (Tetal for Question 11 is 1 marks)

12 The probability of Timmy winning a Tennis match is 0.7.
Work out the probability that Timmy does not win a Tennis match.

0.3

(Total for Question 12 is 1 marks)




13 There are 26 sweets in a bag.
15 of the sweets are red.
The rest of the sweets are white.
One of the sweets is taken at random.
Find the sweets that the cowner is red. o
Su-eet
/5
26
(Total for Question 13 is 2 marks)
14 There are 30 pens in a box.
12 of the pens are black., ’
7 of the pens are green. [ 2 + 7 = l C7
The rest of the pens are red.
) 30 — 19 = ||
One of the pens is chosen at random.
Find the probability that the pen is red. o | (
30
_(Total for Question 14 is 2 marks)
15 There are 53 counters in a bag. : \ 5 % 8
15 of the counters are red. S 3 '
The rest of the counters are blue.
One of the counters is taken at random.
Find the probability that the counter is blue.
29
| D
(Total for Question 15 is 2 marks)
16 A draw is being held to win a prize.

Bruce buys 17 tickets. 3 S0 — 177 = :))?)3

A total of 350 tickets are in the draw.

Find the probability that Bruce does not win. the prize.

EEE
2550
(Total for Question 16 is 2 marks)

/




17 There are 8 marbles in a bag.
4 marbles are red.
3 marbles are blue.
1 marble is green.
. On marble is selebted at random from the bag.
(a) Onthe probability scale mark with a cross (X) the pr_obability that the marble is red.
| . : N . o]
l AN !
1 .
0 3 | 1 )
(b On the probability scale mark with a cross (X) the probability that the marble is yellow. .
N | |
N 4 l !
0 1 1
2 ()
() Write down the probability that marble is blue. 3
'8 o
| | (0
(Total for Question 17 is 3 marks)
18 Here are some number cards.

One of the cards is selected at random.

(a) Write down the probability that card has the number 8 on it.

(b) Find the probability the card has an odd number on 1t o _ ()

v
a
(Total for Question 18 is 2 marks)

/ |




19 There are some counters in a bag,

The table shows the number of counters of each colour.

Colour Red Blue Yellow Gfeéh
Number of Counters .7 2 s 3

A counter is taken at random from the bag.

T2 A S +3 = 17T

(a) Write down the probability that the counter is green.

(b) Write down the probability that the counter is not blue. o o (D)

(1)
(Total for Question 19 is 2 marks)

20 Inabox of chocolates there are

11 milk chocolates '
S5 dark chocolates l l t 5 -+ 7 = Q— 3

7 white chocolates
Charlie takes one of the chocolates is-taleen at random.

Write down the probability that Charlie takes a white chocolate.

Wi

73

(Total for Question 20 is 2 marks)

21 There are red counters, blue counters, yellow counters and green counters in a bag.
A counter is picked at random from the bag.

The table shows the probabilities that the counter will be red, will be blue and will be yellow.

- Colour | - Red : Blue I+ Yellow Green
Probability 0.2 0.4 0.3 O. /

Complete the table to show the probability that the counter will be green.
' (Total for Question 21 is 2 marks)

~ ' /
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1 The table below gives information about the time taken for 20 people to run 5 km.
Time (minutes) Frequency
15 <t<20 3
20125 - 6
25 <1< 30 7
30 <t<35 4

Draw a frequency polygon to show this information.

A
8 -
2
6 /
4 \\
Frequency i :
4 X
2
0 >
15 20 - 25 30 35
Time
(minutes)

(Total for Question 1 is 2 marks)




The frequency table shows the time taken for 100 people to travel to an event.

30

20
Frequency

10

Time (minutes) Frequency
0<tk£10 14
10<t<20 16
20 <t<30 23
30<t< 40 29
40 <t <50 12
50 <t<60 6
Draw a frequency polygon to show this information.
A
'*\
:. '\
- — \\
0 10 20 30 40 - 50 60
Time
(minutes)

(Total for Question 2 is 2 marks)




The frequency table shows the weight, in kg, of some cats.

Frequency

Weight (kg) Frequency
0<wgl 8
I<w L2 10
2<wK3 21
5<wg6 9
Draw a frequency polygon to show this information.
25 %
20 =
\\\
15 4
v \\
/ X\
10 N
5
° >
0 1 3 4 5 6
Weight

(kg)

(Total for Question 3 is 2 marks)

J‘




The frequency table shows the heights, in cm, of some tomato plants.

Height (cm) Frequency
140 <h < 150 7
160 <h <170 15
170 <h < 180 {0
180 <h< 190 9
Draw a frequency polygon to show this information.
A
20 T
15 at
Frequency
10 y
*r
5
0 V >
140 150 160 170 180 190
Height
(cm)

(Total for Question 4 is 2 marks)




The frequency table shows the speeds of 100 cars.

30

25

20

Frequency

15

10

Speed (km/h) Frequency

0<s8<20 6

20 <s <40 17

40 <5 < 60 29

60 <5< 80 25

80 < s < 100 20
100 <5< 120 3

Draw a frequency polygon to show this information.
A
/) N
/. \\
{
N
A
Vi N
.
’ 3
y \
L. \
’ Y
\
\

/ A

/.
\
3
\
\
X
0 20 40 60 80 100 120
Speed
(km/h)

(Total fox Question 5 is 2 marks)

/




The frequency table shows the temperature, in degrees, of 30 days. -

Temperature (°C) Frequency
10<tg 14 1
14<t< 18 4
18 <t 22 16
22 <t< 26 7

26 <t < 30 2
Draw a frequency polygon to show this information.
A
20
*
15 i
1A \\
/ . \
Frequency y
10 \
/
\
5 N
4 x N *
0 >
10 15 20 - 25 30
Temperature
O

(Total for Question 6 is 2 marks)




The frequency table shows the heights, in cm, of some people.

Height (cm) Frequency
140 <h < 150 7
150 < h < 160 25
160 <h < 170 34
170 <h < 180 29
180 < h < 190 16
Draw a frequency polygon to show this information.
A
4/ (w]
so0 st
p,(‘ud ¥ N
. ?(‘20\ 20 N
i
/
/6
o >
o }5o /60 170 1¥o /90
Height (o)

(Tota) for Question 7 is 4 marks)

/







Here is a list of 10 numbers.

2 3

(a) Work out the range.

(b) Find the mode.

(c) Calculate the mean.

N
!
N
)

(1)
L+3+4 + 4y i ""'6""6“’64--—7-—&-’7 = 4
4 < . 8
o B
@
(Total for question 14 is 4 marks)
Here is a list of 5 numbers.
4 6 9 10 1
(a) Work out the range.
R
.............. iy
(b) Write down the median. )
(c) Calculate the mean. C?
Y 4+¢C + 9 4 Jo + 1/ % 0 W)
Zo -
S &
2)

(Total for question 2 is 4 marks)

/




Here are the heights, in cm, of 8 people.

155 171 164 171 167 188 190 151

(a) Work out the range.

J90 — 151

(b) Find the mode. | )

(c) Calculate the mean. o (1)-
ISSHITI 4 164 HT] 4167 1188 4,90 +15/
= 1357 . | )

12571 - 169.625  1469.625

............................. cm
B , ©)

(Total for question 3 is 4 marks)

Here are the weights, in grams, of 6 potatoes

150 129 125 133 144 105

(a) Work out the range. L
/50 — /165 =¢8

‘e L’L S ............
(b) Work out the median weight. 1)
S (L5 29 33 ) Yy 150
2
129 4+ 133 - yaq) |
| 2

(Total for question 4 is 3 marks)

)




/

5 Here are six cards. Bach card has a number on it.

19 7 [ 11

15

(a) Work out the range of the numbers on the cards.

Jqa9 =7

= /2

(a) Work out the range.

ey — |

(b) Find the mode.

ol
(1
(b) Work out the mean of the numbers on the cards.
g 4 7 ok
T
19 +1) + |5 +1§ + 8+ 7 = 75
J2 =05 L [2..5.....
6 2)
(Total for question 5 is 3 marks)
6 Here is a list of 10 numbers.
1 4 4 5 6 8 11 11 11 14

= (3

.............................

.............................

(Total for question 6 is 2 marks)

/



Here are seven cards. Bach card has a number on it.

125 [10]18]12]11] 9

(a) Work out the range of the numbers on the cards.

/8 — &5 =13

-----------------------------

(b) Work out the median of the numbers on the cards.

5 9 Jo 4/ /2 /2 | 8&

/

(c) Work out the mean of the numbers on the cards.

5+ 9 <+lo + i) 12 +l2tid = 77

(R

Z.'Z.. !/

=

(2) .......
(Total for question 18 is 5 marks)




Here is a list of numbers.

8 6 4 5 9 8

(a) Work out the median

¢4 5 ¢ 8§ % 97

Here are six cards.
There is a number on each card.
Two of the numbets are hidden.

4151?7163 7

The mode of the six numbers is 4
The mean of the six numbers is 5

There must \o{, at leart
0n€  wmmore

DDD@@D

ool 46 = 2

Work out the two numbers that are hidden.

The Nunbes st

@' + 5 + & + 3 - e = 2 2

30 ~22 = ¥ o & : g

(Total for question 8 is 3 marks)




9 Here is a list of numbers.
14 19 15 20 n 14 19
(a) Find the range " ' . _
20 -~/ =]
(8) Caloulate fhe mean | (2) .......
I 4 lq 415+ 2o+11 14319 = (|2
L'__?_’, = (6 .
7] T
)
Andrew says, '
”The median is the middle number, so the median is 20.”
S g ™ | 20
(c) Andrew is incorrect, explain why. H t t ,! 0 1
The numbecs. hovt. h. be. ocdesed  Bosto oo
Thee AL o5 L St -
. ()
~ (Total for question 9 is 5 marks)
10 Here is a list of seven numbets.

One of the numbers is hidden. S o |
11671007972

The mean of the numbers is 9.

Find the value of the hidden number.

7&‘7*"53' The pumbers rmust oadd o £3

bl + 6 7 + Jo + 7 +9 = 50

§3 — S0 = /3

.............................

(Total for question 10 is 2 marks)

Y,




1 The mean of eight numbers is 41.
The mean of two of the numbers is 29.
Work out the mean of the other six numbers.

Fxyl = 323y Al num bers
| | N

Tewo nombers

32¢ — 68 = 270

S

....... y AT

(Total for questidn 11 is 3 marks)

2

‘otal B3

12 Mark ran ag mean distance of 13.2 km in five days.
The next day Mark ran 20 km.

Find the mean distance Mark ran in the six days.

. = howy S
123.2 X 5 e £ 6 kem '

Cg + 20 = 6 i~ b B doys

BC - /¢ 3 kem

i

6

--------------------

(Total for question 12 is 3 marks)

--------

/







